FLERFEFEOYS

FHITE12R16H
I B2 R IR 53 4 JE AR AL R

FHTENANBRATARINTS., B REROFTELEEREFEEL. IADLEY-BERICIMYFELDT=,
FHRFEBFODEFIUTDEEYTHS,

(1) SMTEIADEL[IAIEH (CI—EIEH) (X, BLZRLTLS,

(2) SMTEIADIITEER(ERE) L. 20 AARYIZRTA%F EE-T-,

(3) BAEEDSL., SHITEI108 DRE/NEIEIRFEEEIL, 20 A SYICRIERIAF T E>T=,
SHTEI0A DHERTTE KR RCE) (X, 40 ASYICHIER AZE TE>T=,

(4) FNTEI0ADEEEMMIEROKREE. 3HhAEHKETRIERAZ TEST=,

(5) ERIX. FHRAEE, AHRABRLLICEEICEREWVKEIZH S,

(1 )%ﬁ@]ﬁ*aﬁ(CI_ﬁ*ﬁﬁ) (QEQZ27£E:100)

110.0
106.0 A
102.0 A A p
e — /\ ’/\/‘ A
98.0 ~\/ Vv \;-f"\ \‘\\M\, v /
94.0 — R 98.9
[l - 3A% G BEIEE 981
00 fl - T AR BEITY 99,8
0 T Tolalls 6 s oo g 123 4 5 6 7 |slohd A T2 laTalsTe 7 Ts o lidifid 12 45 6 7 s[o g 1] 2] a]5 6] 7|80
H27 H28 H29 H30 H31/RIE
(2) VR R Mz B R B B m Fe 4k
= Sh TR (EE) IFRR) FEXBEEERERIERE)
CREMIEH, Fri2rs-100 CRREE % PA2T4E=100)
115 210
200 A
190 4 =====-- SBT3 Fb T2
110 4 180 4 ===emitn  —=--- TIRFILE
170
105 A 160
‘A M
A N

w \/\] ‘/-\/\/\,-/ A V RyE. 98 | 1307
106. 9 120 7 ¢
95 1104 ¢

100 1%

90 - 0
80 1
70 A
85H27 28 29 30 31 RyG (45) 60H27 28 29 30 31 RT )
VLS A AR i B IR T 38 VR AR il B UL T3
AR CEAR27=100) DR A ke (%)
F ¥R RICAES A 6H 7H 84 9A
PR TR (A2 6) A 2.1 A 4.0 1.1 A 1.8 4.1
)i T2 5.7 A 7.0 4.3 A 8.9 8.1
BEA T3 1.9 A 1.4 0.9 A 3.3 0.0
LB T2 A 1.2 A 7.4 6.8 A 5.0 5.1
AU I T2 19.6 A 3.1 A 17.2 1.5 A 5.0
iRk 13 0.7 A 2.4 4.2 A 11 A 4.1
¥ AR T A 0.6 A 22 3.7 A 6.7 4.2
b5 T3 A 37.1 A 6.6 4.0 A 14.7 41.7
TIAT s B T3 0.4 A 1.9 0.7 A 1.5 A 0.3




BENHEE
(AR b %)

RIu4E6 H 74 84 94 10H
FIINFE I TR (B 205 B DA — 28— <) 1.7 A 3.1 A 0.5 3.4 A 5.5
FTHEATE (B A B HEAERS A 1.3 7.6 8.6 14. 6 A 29.9
XEBEREEK A 1.7 A 0.4 10. 3 8.3 A 14.6
EEIE RS, A 1.5 4.5 9.3 12.0 A 23.7
HraxETs L 4.6 100. 1 A 12.8 A 16.7 A 1.5
(4) il CEEEWIEIsER: kB )
RIu4E6 H 74 8 H 9H 104
mAfEE 101.0 100. 9 101.0 100. 9 100. 8
AT A (%) A 0.2 A 0.1 0.1 A 0.1 A 0.1
HIAER A b (%) 0.4 0.0 A 0.3 A 0.4 A 0.7
ARITEEREBORE FERFLBOBA (HER)
(%) (EEE&R—/A—<£E>)  (AFEEA LHEF) (50{;) e A
20
—— BRI RITEI0N ASSNGEH) A (BR<ie) RyCFI0H 3T
16 N /£ 13_:4 R;T:*rF-lOH A8.1%(i$$ﬁ) 40 1 mmmee—- ﬁﬁ@i RJT:EIOH if
12 - | | 30 1 A
8 1 ?‘\ :!: 20 1 |lII l‘\" i
A - /Y i S v “,'“\ )’ \ HYA
A N A N A AR ALY AT/
0 1a v v/'V"\»VV y 0 v V N v/ A ,V "N ¥
I \ v ! W \ ! ! v
Al - A A 10 - '| "“l \ ','| ] L\\
VIV AN
A8 ' A2 4 Vv |
A 12 A 30 1
A 16 H27 28 29 50 ?;1 RIC )A 40 H27 28 29 30 31 RT )
R (B e A () AR BEREHSELS () SERABEHSEAS
) FREEETFROBH (FRR) %) HEEMMOMUR(LES)
? — iy RIAEI0H  AO.T%
1,400 9 404 | e ARERGAA RIEEI0S  A0.6%
1,200 | o2 [l ——— o (BRI K O R F— %
i 980 _ 3.0 B d RICAE10H  A1.0%
1,000 A M ” ~ 861 M M- ~ I 898
] 838 AT I THHET H | 2.0
800 1 [MIEHI [ i I i
600 1 s -
0.0 \ A S V\vr/\
400 - : \ V[ \
200 - A 10 )
0 A20
H27 28 29 30 31 RyG (4F) H27 28 29 30 31 Rt (4F)

*EEEI0A HOBFE R EASEE T TR RS A DA



(5)ER

() o
Ny Emngm )
0o | SRR 50
o FHAR AL (20H)
: — T RRNRE R (I IR 20 -
2.8 | ====HRRAEE(EEH)
2.6 - .
2.4 r\/\/\ N r~..'~"""‘-"’\"\~/"\ ; w04 =
N i v
2.0 A ’_..,Jl\/ - ///wﬁ'\\ 0
1.8 - n
1.6 -/ "--—‘-’-.--~‘- Loy \%4
14 UL o A0 J /\/\-/\N
12 {ooee="T
1.0
A 20
0.8
0.6 -
0 27 28 29 30 SRt s 2Ore 28
JE A T3 By T— B AR A IR )
N ERRRZHEZNEOHER (IKER) %) (%)
14,000 20 5.0
12,000 Ao~ W/N'\/\VM,, u'\/\u o A5
4.0
10,000 H (— S e = | A 20
— HIEIR A b G0 (i) 3.5 1
8,000 - A0 \/_\/w
3.0 1
6,000 +— AT Th. e 1 ot A 60
' e b 25 1.}
4,000 A0 -’J_\J
2.0 1
2,000 1 - A100 |5 A
1.0
0127 28 29 30 5L pe A0 e 28
()
I BB R T8~ R v 7 2

RICAF6 7H 8 H 94 10H
BHRNE R (1) 3.00 2.74 2.81 2.66 2.66
A 2R NEH (f5) 2.05 2.02 2.01 1.95 1.90
JEHRBRZ e E FEANE X 8.3 11.6 A 3.4 A 19 A 3.3
SERRFEFRET VB (%) 1.5 1.7 1.7 1.7 —
Bl G G- KH A PEE 30 AL i) % 9.7 A 6.3 2.1 2.1 —
TR SE S B IRE IR (s 3 30 AL ERdEpT) O A 038 2.0 1.7 1.5 —
FITAE S 57 R (Ui 30 AL Ry 3K 7.4 A 0.5 8.5 7.7 —

KUTATEER A Fe (%)

BEIRANEREFRRAEROH

— & S—RRIBERA - BRBELOHER (KR R)
(BiEE[F) A LS )

.....

SRE Y F YNGR
— R (i)
= AR (S —1)

A 2RI (— 1)

o
o
Y
D o ’
o R
. ebes %o
DRI 4
LIy
=z W A4
~¥
4, ’ NN
AN ,/\ N
\ a o~y
\

30 31 R

()

5z B 55 B R B~ R > 7R |

TEERXRDIHE

J\vv*

MAEE O HFEHTH AL
I B 357 LAHERHE

AELCRICHELIOH > 2.4%

--------- FWE<RITTHET-IAHD>  2.1%
e (I BCRICAET-9AHD> 1.7%

V) SRV e B2 U7k « ] L « B L - = TR




